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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’,
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH

ir—o’', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W1
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m=870,n FV0=0

27.

21.

217.

27.

26.

26.

21.

27.

21.

21.

26.

26.

21.

27.

27.

27.

26.

26.

26.

26.

26.

m=550, FV0=0
-o— MW
5%0 5%5 560
m=665,n FV0=0

—o— MW

iy

665 6%0 6;5
m=780,n FV0=0

7é0 7é5 750
m=910,n FV0=0

1T —e— mw

910 915 920




m=930, FV0=0

27.0

26. 8 -

26. 6

26. 4

—o—

M_Ww

930

T
935

940

m=965, FV0=0

26. 7

26. 6

26.5 -

26. 4 -

26. 3 -

26. 2

—o—

M_W

965

T
970

975

m=995, FV0=0

26.9

26. 8

26. 7

26. 6

26.5 -

26. 4

—o—

M_W

T
995

T
1000

T
1005

m=1020, FVO=0
—— MW
27.2 4
27.0 A
26. 8
26. 6
T T T
1020 1025 1030
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P6AW

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:25 320 160.0 0.314 F BRige07:25 Ba (GRAERSE)
08:00 320 160.0 0.314 |Z=| 1Ri%e08:00 Bz (REAEZEHSE)
08:50 320 160.0 0.314 |Z=| 1Ri%e08:50 Bz (KREEZEHE)
09:25 320 160.0 0.314 FA| 1BRi&@09:25 B3h (KA{EREE)
10:00 320 160.0 0.314 FA| 1Bi&@10:00 B3h (KRAFEREE)
10:35 320 160.0 0.314 FA| 1B2i%@10:35 B3h (KRAIEREEE)
11:10 320 160.0 0.314 FA| 1BRi%@11:10 B3h (RAERSE)
11:45 320 160.0 0.314 FR| 1BRi%@11:45 B3h (kAEREE)
12:20 320 160.0 0.314 FA| 1Bi%e12:20 B3 (KRAEREE)
12:55 320 160.0 0.314 FE| 1BRi&@12:55 Bzh (RFAEREE)
13:30 320 160.0 0.314 |2 =| 1Ri%e13:30 B3 (REZRE)
14:05 320 160.0 0.314 |Z=| 1Ri%e14:05 B3 CGREEZERE)
14:35 320 160.0 0.314 |Z=| 1Ri%e14:35 B (KREEZERE)
15:20 320 160.0 0.314 |2 =| 1Ri%e15:20 B3 (REAEZEBE)
16:10 320 160.0 0.314 |z =| 1Ri%e16:10 Bz CGREAZERE)
21t 4800.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE ‘
MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

FEERECE (2143.0 vs 4775.0) 45



P6AW_W1,

Day=61 (2025-06-05)

------------------------------------------------------------------------------------- L 6000
150 1y, VeR88Rv, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET
4084
100 L 4000
2800
204 2100 240
50 130 2000 Z
Warning: lcol [FVI',| "FVO’'] missing 67
0 -0
_ ( o v _— MW 30
T 300 FRV maxM
t
©
=
E
>
&
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2800
optEC0=2600. 0, setECB=2080.0 ° —¢—  ECBx10%
2200 PS ‘00..‘ ®eo o, ® ECC
S LT ST S TP S K ——————f——————f-———-—f ===}
2000 -
1900 -
7.0y optPHO=6.5  setPHB=6.5 —¢  PHB*10%
® PHC
o o
6.5 = e A e e ittt
6.0 -
7 L 4000
— 300 Bylnit @D63 02:06: ET=1868 Fg=2720.0 Ro=851.0 +
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T“; : e & e © 3
X 200 A I — e & e © - 2000
: = T
= 100 : B L 1000
E 1 \
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- 300 A5 5 5 | 2| B 5 B i FA [A A FA FA [A A FA 3] [A A FA FA [A A FA
S 1 L 3000
% ByEt @D61 19:28: ET=1857 Fg=2240. 0 Ro=nan /\ 1
< 200 - —o—e ®
£ \/ ~_ - o—e ® [ 2000
G il !
100 A : L 1000
-
[NN] \E‘
 — a—
015 1 2 3 4 5 6 7 8 9 [ 10 11 1218114115 ] 16 171181197 20 [ 21 [ 22 | 23 T 2000
- 300 BE BE BB |2=| B BE B B [Z=]| FA A FA EREAREEAEEA EEAEEA N FA EHERSEZS R
& - 3000
E 200 | ByWoFv @D63 02:06: ET=1730 Fg=2400.0 Ro= 70/@\ o o °
£ : \/ ~_ o—e ® - 2000
E ! 111
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_ ] - 1000
] 1
a g 2 |
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0.2 -
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| _obs

—@— PPFD obs
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



25.

27.

27.

27.

27.

27.

26.

28.

27.

27.

27.

27.

27.

26.

28.

28.

27.

27.

27.

660 860
m=580,n FV0=0

T
1000

—— MW

5é5 560
m=730,n FV0=0

0_

—o— MW

i

7é5 7&0
m=885,n FV0=0

2 4

0_

- MW

~

885 890 895

m=440, FV0=0
—— MW
27.0 -
26.5 -
26.0 -
T T T
440 445 450
m=610,m FV0=0
—o— MW
27.8 -
27.6 -
27.4 -
27.2 -
27.0 -
26.8 -
T T T
610 615 620
m=770,m FV0=0
28007 o
27.75 4
27.50 -
27. 25 4
27.00 -
26. 75 -
770 775 780
m=930,m FV0=0
—— MW
28.2 -
28.0 -
27.8 -
27.6 -
27.4 -

930 935 940

m=485, FV0=0
—— MW
27.8 -
27.6 -
27.4
27.2
27.0 A
T T T
485 490 495
m=650,m FV0=0
—— MW
27. 4 -
27.2 -
27.0
26. 8 -
26. 6
T T T
650 655 660
m=820,m FV0=0
—o— MW
27.75
27. 50 A
27.25
27.00 A
26.75
820 825 830
m=960,m FV0=0
-— MW
28. 4
28. 2 -
28.0
27.8 -

960 965 970

m=540, FV0=0

27.8 -

27.6

27. 4 -

27.2 A

27.0 A

26. 8

—— MW

5&5 560
m=690,n FV0=0

27.75 A

27.50 A

27.25 A

27.00 A

26. 75 A

26. 50 A

T
690

695 700
m=855,n FV0=0

28.0 A

27.8 -

27.6

27. 4 -

27.2 A

27.0 A

26. 8 -

—o— MW

855

860 865
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P6AW

BrE) | GEBAK(F) | ERE(EH/R) | EREE (G/R) [ XS R

08:05 320 160. 0 0.314 F|  {Ri%008:05 BHah (RF{EESE
08:35 320 160. 0 0.314 | 1Ri%e08:35 BE1 (RFAEREE)
09:10 320 160.0 0.314 = RRiB009:10 Bz (RAKEE)
09:40 320 160. 0 0.314 E BRi%e09:40 BE1 (RAERE)
10:10 320 160.0 0.314 F[ BRige10:10 Bz CGRAERESE)
10:40 320 160.0 0.314 = RRiB010:40 Bz (REAKEE)
11:10 320 160. 0 0.314 El BRige11:10 Bz CGRAERESE)
11:40 320 160. 0 0.314 = RiB011:40 Bah (GRAEESE)
12:10 320 160.0 0.314 =l RiB012:10 B3 (REAKEE)
12:40 320 160.0 0.314 5| RiRe12:40 Bz (GRAHERESE)
13:10 320 160.0 0.314 S| {Ri%e13:10 Bz (RAERSE)
13:40 320 160.0 0.314 | Ri%e13:40 B (GREfRREEE)
14:10 320 160. 0 0.314 E BRige14:10 Bz CGRAEESE)
14:40 320 160.0 0.314 = RiB014:40 Bah (RAEESE)
15:10 320 160.0 0.314 =l RRiBe15:10 Bz (REAEESE)
15:40 320 160.0 0.314 =l RRiB015:40 Bz (REAKEE)
16:10 320 160. 0 0.314 El BRi&e16:10 Bz CGRAEREE)
23t 5440.0 (170%) 2720.0 FEWHKEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

FEERECE (2187.0 vs 4598.0) i3



P6AW W1, Day=60 (2025-06—04)

------------------------------------------------------------------------------------- L 6000
150 1y, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 5288
100 7 5 - 4000 &
2800 2880 E
2100 107
50 - 909 L 2000
L
163 Warning: lcol [FVI',| "FVO’'] missing 33
0 - -
. ( o vi —_— MW 930
T 300 FRV maxM
+
s
‘a 200 - 28 =
T O R E SR S - o Y S S b o P N =
- I L i
> 100 i l | — — — — | — — - un {— — ! ! ! ! B 26
(o'
[
1.0 24
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2800
optEC0=2600. 0, setECB=2080.0 —¢—  ECBx10%
2200 ® ECC
A S L LT T e S H—g—ﬁ—x—y—;—g—g—x—x—g—%—x—x—x—x—x -------------------------
P o ® o9
2000 0o ©
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000000 000 0 O °
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0.6 -
0.4 -
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[ ] | _obs
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27.

21.

27.

27.

26.

26.

27.

27.

27.

26.

26.

26.

27.

27.

27.

27.

26.

26.

860
m=575,n FV0=0

—0—

5é0 5é5
m=700,n FV0=0

765 7%0
m=840,n FV0=0

26.

25.

25.

25.

25.

25.

24

27.

27.

27.

27.

26.

26.

27.

27.

27.

27.

26.

26.

27.

217.

27.

27.

26.

26.

m=485, FV0=0

—o— MW
485 490 495
m=605,m FV0=0
—o— MW
605 610 615
m=730,m FV0=0
—o— MW
730 735 740
m=875,m FV0=0

-— MW

=
B
iis

875 880 885

m=515, FV0=0

27.00 ~

26. 75 A

26. 50

26. 25 A

26. 00 ~

25.75 A

T T
515 520 525

m=635,m FV0=0

27.6

27. 4 -

27.2 A

27.0

26. 8

26. 6

T T
635 640 645

m=760,m FV0=0

27.6 -

27. 4 -

27.2 -

27.0 -

26. 8

26.6

760 765 770

m=909,m FV0=0

27.8

27.6

27. 4 -

27.2

27.0

26. 8 -

—— MW

905 910 915

m=545, FV0=0

27.6

27. 4 -

27.2 A

27.0 A

26. 8

26. 6

—— MW

T T
545 550 555

m=665,m FV0=0

27.6 A

27. 4 -

27.2 A

27.0 A

26. 8

26.6

T T
665 670 675

m=800,m FV0=0

27.6 A

27. 4 -

27.2 -

27.0 -

26. 8

26. 6

800 805 810

m=930,m FV0=0

28.0 A

27.8 A

27.6

27. 4 -

27.2 A

- MW

930 935 940




m=965, FV0=0

28.0

27. 8 A

27.6 -

27. 4 -

27.2 A

27.0 A

—o—

M_Ww

965

T
970

975

m=990, FV0=0

—— MW
28. 2 -
28.0 -
27.8 A
27.6 A
T T T
990 995 1000

m=1020, FV0=0
—— MW

28. 2 -
28.0 -
27.8
27.6
27. 4 -

T T T

1020 1025 1030
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P6AW

BrE) | GEBAK(F) | ERE(EH/R) | EREE (G/R) [ XS R

07:55 320 160. 0 0.314 F|  {Ri&e07:55 Bah (RF{ESE
08:30 320 160. 0 0.314 | 1Ri%e08:30 By (RFAEREE)
09:10 320 160.0 0.314 = RRiB009:10 Bz (RAKEE)
09:45 320 160. 0 0.314 E BRi%e09:45 BE1 (GRAERESE)
10:15 320 160.0 0.314 F[ BRige10:15 Bz CGRAERESE)
10:45 320 160.0 0.314 = RRiB010:45 Bz (REAKEEE)
11:15 320 160. 0 0.314 El BRige11:15 Bz CGRAERESE)
11:45 320 160. 0 0.314 = Rig011:45 Bz (GRAEESE)
12:15 320 160.0 0.314 =l RiBe12:15 Bz (REAKEE)
12:45 320 160.0 0.314 S| RiRe12:45 Bz CGREERSE)
13:15 320 160.0 0.314 5| {Ri%e13:15 Bz (RAERSE)
13:45 320 160.0 0.314 | Rige13:45 B (GREREEE)
14:15 320 160. 0 0.314 E BRige14:15 Bz CGRAERESE)
14:45 320 160.0 0.314 = RiB014:45 Bz (GRAEESE)
15:15 320 160.0 0.314 =l RRiBe15:15 Bz (REAEESE)
15:45 320 160.0 0.314 = RRiBe15:45 Bz (REAKEE)
16:15 320 160. 0 0.314 El BRi&e16:15 Bz GRAEREE)
23t 5440.0 (170%) 2720.0 FEWHKEC: 2080.0, PH: 6.5

EREFRRA (0.92) , HEE

MEREHER 2 STHAE RS (296.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

FE[ERECE (2240. 0 vs 4490.0) i3



P6AW_W1, Day=59 (2025-06-03)

6000
150 1y 1, VOP¥RV, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET
3828+ 4000
100 4
2800
2100 08840
879
50 - 2000
67 Warning: lcol [FVI',| "FVO’'] missing 163
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. ¢ o vi —_— MW 930
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0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2800 3
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0.8 1 &8 B B G B B B G B B B G B B B G B B B G B B B G
0.6 -
0.4 1
0.2 A

—_—
o | _obs
—@— PPFD obs

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



27.5 A
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26. 5
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M_W

T
500

T
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T T T T
700 800 900 1000

m=655,m FV0=0

26. 4

26. 2

26. 0 -

25. 8

25.6

25. 4 -

—— MW

i
>

6é0 6é5
m=805,n FV0=0

27.25 H

27.00 A

26. 75 A

26. 50

26. 25 A

26. 00

8%0 8%5
m=965,n FV0=0

27. 8
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27. 4
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-— MW
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24.8 A

26. 4 A
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m=520, FV0=0

M_w

T T
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m=700,m FV0=0

—o— MW

T T
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m=565, FV0=0
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565

5;0 5%5
m=730,n FV0=0
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895 900
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